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Sixth Semester B.E. Degree E
Gryptography, Network

Tirnc: 3 hrs

l\ote: Answer nnlt FIV'E full questiotrs, choosing

I Explain common attacks with cyber space.

1scs61

'i r4lrfll'

xamin afiohlUuly/Au gust 2022
Secugi$$;'and Gyber Law

Max. Marks: 80

ONE full question{rom each module.
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a.

b

to find the inverse

:r,1 . ::,r :

t:

or l/ modulo 79

(06 Marks)
(04 Marks)

(06 Marks)

(06 Marks)
(04 Marks)
(06 Marks)

(06 Marks)
(10 Marks)

Apply extended Euclidean
Distinguish between the fo

(i) Stream and
(ii) Subst sition ciphcr

OR
Explain di
Describe
With a

in cll'network security.

algorithm.

3

b. lixplain the functions of WS-security

7

I of2

(04 Marks)
(08 Marks)
(04 Marks)

(08 Marks)
(08 Marks)

OR
Explicate the properties of hash algorithm.
Elaborate on the practical issues of RSA.
Narrate man-in-the middle attack on Dilfie I{ellman key exchange.

Module-2
a. The modulus (n) in a toy implementation of RSA is 143 and the errcryption key (c) is I l.

Find the coresponding decryption key and encrypt plain text = 127. (0t \tarks)
b. What is the cotlnton sccret key if A and I) perfornr lliffre-llcllrnan kcy cxchangc usirrr:

P:53 and g:2 ,Assumc the secrct ko1, of A is l0 ancl B is 3l (0.1 )tarl.r)
c. Ulock of plain text has been encrypted using Elganral encryptron u,rth P = 131. g., 2 anri rlrc

recipient's public key (u): 14. What is the plain text corresponding crpher text Cr - 103 and
C: : 5l [Sender's private key a : 97]. (04 Nrartis)



{i a

b

OR
Diflf-erentiate Anamoly V/s Signature based lDS.
Discuss thc charactcristics of wornrs.
I)epict fbr-rr-ivay hanclshakc in 802.1 li. t

Module-5
Deflne the tbllowing terms under the IT Act 2000:

( i) Addrcssee
( ii) Subscriber
(iii) Adjucatingofflcer.
(iv) Originator.
(v) Certifying ar"rthority"

What is Inlirrmation Act? Discuss its aim, objectrve and scope of the act.

15C56l

(04 Marks)
(06 Marks)
(06 Marks)

(05 Marks)
(07 Marks)
(04 Marks)

9a

10a

b

C Outline any

Discuss the

Explain the
Define the lor fbilure to

lirLrr tirnct ions ol' controllcr

Authent
OR

Act with respect to

b

C,

ication of electronic record.
(06 Marks)
(06 Marks)

ion return under section 43 of I'l' Act 2000.
(0zl NI arks)
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2 a. Explain the display
b. Cirven a radilrs r :

3

1

5

6

OR
lu.lanagerrent ustng

n-ridpoint
GLLJT. (08 Nlarks)

circle algorithm in the f-Lrst quadrant from

b. Explain:
i) RGB color model.
ii) CMY color model.

\.

I of 2

(08 Marks)

15CS62

(08 Marks)
(08 Marks)

(08 Marks)

Sixth Semester B.E. Degree Examination, July/August 2022

Computer Graphics and Visudlization

Max. Marks: 80

Nate: Ansnter any FIVE full questions, cltoosittg ONE full questionfrom each module.

\ urin&kl-r eAppi%

Module-3
a. Explain Cohen-Sr-rtherland line clipping algorithm. (08 N{arks)

b. Explain the steps in Surtherland-Hudgernan polygon clipping algorithm. Apply the algorithrn

lbr the lbllowing object. (ReL Fig.Q.,5(b)). (08 N'Iarks)

-\
\

)^

1

Fig.Q.s(b)



7a.

b.

8a.

b.

9a.

b

10 a. What is

b. ExPlairr
c. ExPlain

1scs62

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

f an input device?
(08 Marks)
(08 Marks)

(06 Marks)
(04 Marks)
(06 Marks)

curve

OR
ing? Ilorv it is rrnP in OpenG[-?

Quadric sltrtace ii) CLrbic sLtrface lLttrctions

eqLratiol-)s and Pro o1'Bezier cllrve .

2 of 2
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I a. l:xplain thc inslrLrction lirrnrats and addressing nroclcs of'SICiX[: nrachinc archttcctLtre.
(08 \Iarks)
(0tl Marks)b. Write the algorithm lbr pass - I of'tn'o -pass assenrblers.

OR
a. Define Macro. Briefly bxplain the various data structures used in the design ol tlacro

processor. (06 Marks)

b. Generate the ob.joct code lor each statements write thc object prograrx fbr thc lollowirrg
SI('iXIr.Civenthat:CI-L.AI{:B.l:t.l)A:00.LDR-68.AI)D" lB. t'lX=2C..ll.l'"-ltt.
SIA..()C

2

,,.,,,
,,'.:.:.:

st,\,l sTAnr 0000
ITIRST CLEAR X

LDA
+t-DB
BASE

LOOP ADD LE, X
OUNT

LOOP

COLjN I

TOTAL
I

IAIll.H Rl:S\\' 2000

::,. ,1., l:

3

I'O'l'l- RLISW I

trND FIRSI'

Module-2
a. Define loader? ['r'ite an algorithm for absolute loader.

b. Write SIC/XE source code for a simple bootstrap loader.

c. Explain the lacilities available in MS-DOS linker lor program linking.

(10 Marks)

(05 Marks)
(06 Marks)
(05 Marks)

5

oR
a. Dcflne program relocation'l Explain the dif'f'erent wa)'s of'doing program relocaticrn.

(05 N'Iarli.s)

b. \\'ith an algoritlirn. explain Pass - I of linking loader. (06 Nlarlis)

c. Explain lrow loadirTg and calling of a subrountine done using dynarric linking. (05 Marlis)

Module-3
a. Explain the various phases of cor,rplier with the help o1'neat diagram. (08 Marl<s)

tl. l-ist and explain reasons for separating analysis porlion of a compiler into lexical analt,sis

arrd s1'ntar analysis phases. (0'l )Iarlis)
c. ('onstruct a trallsition diagram for rccoqnizinr.t l-tnsigttccl ttuntbcrs. (01 \Iarks)

I ol'2

l5cs63



15C563

6 a. Write look ahead with sentincls lbr input bul'l'ering strategv
OR

used in lexical analysis phasc
(06 Marks)

I lorr, to handle rcscrvec] r.r,olcls and identillers duri ng recognit ion ol-tohens'? Explain.
(05 Marks)

Enlist the algcbraic lau,'s lbr resular expression. (05 Marks)

b.

C.

7 a. Cir,e the rLrles fbr constructing ITIRST
b. Construct predictive parsing table lor

S -- aAtlh
A - Ac/t;
B --, d/e
l:nlist the conditions to test whether a gi

W sets.

g grammar,
'll!

(06 Marks)

(08 Marks)
(02 Marks)C LL(1),

oR
Deflnc shift redr-rce parser? Explain its actions ancJ conflicts bv tal<ing on example. (06 \,Iarks)
Write an algorithm 1br cornputation ot'CLOSLJRE of LR(0). (02 N,rarris)
Consicler the grammar A - (A),a cunstruct the DF-A of sets of'LR(0) ilerns. Shol tfte
parsing actions fbr 7p string ((a)). Clearll,show states and svmbols on the stacl<. (08 Marks)

N{odule-5
[)ellne inherited arrd sr,'nthesized attributcs. Give erarnples. 105 Marks)
(lir.c SDD lirr sirrplc Desl< calcularor. (05 \,Iarks)

(06 \larlis)

(05 Marks)
(06 Marks)
(05 Marks)

vell gran'tnlar rs

8

9

10a

a.

b.

c.

(1.

b

C.

b.

C.

...
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August 2022

,''t
the profit.

(08 NIarks)

(08 Marks)

(08 N'Iarks)

resolved? (08 Marks)J
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Find the nurnber ol II to bc per week to

a.

b.

a.

b.

x1 *2x2<3ar,d
x1. x2 > 0.

reqLrired lbr the

nrac

lvlachrn
mrr)Lltcs

Maximum timc
available per week

(rninutcs)I

'l ype ol'Macltinc

I

3,000
2,000
900

l2
4

2

6

l0
J

I.athcs
IVillins nracliincs

Grinding nrachincs
Rs.100Rs.40Profit untt

lof 3

(08 Marks)

Tirne: 3 hrs. Max. Marks: 80

Note: Answer any FIVE full questions, clroosing ONE futl question from eoch module.

Nloclule-l
I a. "OR is tltc art o['n,inrring rvars w'ithout actLtallv lighting lhem". Discr-rss. (02 Nlarks)

b. Drscuss the scoltc ancl lintitalion o1'OR. (06 Nlarks)

c. A tlrm Llscs lathcs. milling nlachincs and grinding trachines to produce two machine parts.
'l'ablc 1(c) represcnts the tlachining timcs required lbr cacl.r part, the rnachining times

availablc on clifl'crcnt nrachincs ancl thc profit on cach utachine part.



4

5

6

t

OR
a. Explain how to set up the sirTrplex method rvith an examplc.

b. Solve the lbllorving LPP in Tabr-rlar form:

Maximize 7: J.xt * 2xz

Subject to 4x1 + 3x2 < l2
4xr -r:{8
4x1 -x;<8trltd
.rl, x: ) 0'

l5cs653

(08 Marks)

(08 Marks)

lex methocl.
(08 Marks)

(08 IVlarks)

(08 Marks)

(08 Marks)

(08 N'Iarks)

5 rolling niills.
to rolling rnr1ls is

.:li:'

g.

b

q.

b.

M

7 a. Explain
b. Priyanka iron steel

cost (Rs. per

lvith

fbr

What

41688

l\4: Capacity
8

t2
t4

IS

,"t,.
.t: t.

.:| ;.

2 64 2 -)

4 5 2 I5

5 4 1 J6

2 of 3

(08 Marks)

t

Furnaccs

N,I

Fr

Fz
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15CS653

problem? How an
(08 Marks)

OR
a. What clo you understancl by a balanced and an u

unbalancccl transportation problem is tackled?
b. Solvc thc transportation cost fur nrinimizatiorr

I"actu ries

I

3 4 Supply
I

2

00

9

10

40 29 21 IQ

2435' 28 27

30 26 r836
25 2A t530

85 5 0

-58 -4 1

3 ol3

Godorvns

2

2

l)emand -5000 2-500 1200 I 000
(08 Marks)

I)la1'er B
12i45

I I

6
Player A

(08 Marks)

,.>Fx*r<
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Sirth SttrtcstCIr l].F,. llegrce [,]x:rnrination, .l ulr /,,1ugust 'Z{'}"27

Fython Applicatior? Prosremrn"&imff

-l'irlc: i lrr s. \,llrx. lr4ai'lis. lil

hiota:,lrtstrer utt_t: ft'll.tE.fitll queslions, (:ltoositrg O;\'E fitl{ qrtcsli*n.{t'rntt t:rtt'{r nrorlttlt:.

Modu!e- I

I a. lrxplarn Llonrputcr Iliircirvarc Arciritcclrrr-c rvith n,-:al rliastlrin ({}5 'r1:r;,.

t). lrrpiain irr ilctail tire burlcling blochs ol'a llrogranr !jtutc tire rrccci ior tiinclic,ns in I)r'1Lr,,rr

lrli tlr,.
c. Explarrr Synta.r crr()rs, logic errors i'r1-rci scnriurlic errols. l.rst oLrl llrc dil'1ct'cnccrs bclir. ' ,

collrllilt)t ancl intcrllrcter ({}(r }lrr :,'

0lt
2 tt. [trlrlain l<cvr,r,'orcls. r,'ariable nan-]es ririth rLiics, oileralors. opcrrrrris lrnri ()rtiJi'o1-olicri.rLi'rr:.

[)vtirorr rv itir eranrp lc.-s

b l::rrlrlain thc corti:cpt tr

llr'0granr to ltlorlpt the
illi el I \)1 . I l- I lrt :t'rrt'r' i:

(Ofl llark-t)
f short circLrit evahration of logical exprcssion rn Python. Writ,l l
Llser for a score between 0.0 and 1.0. If the score is out olt'anec pr-inr

betn,een 0 i [). l'rinL ii trsing thc iirllou rngi tablc:

l
lisc trv arrd Irrc*1lt so lhat voLri. llroqran'l
ntcssasLr ancl cxil lhc pr0grani

les non-numenc input gracclLrlly by prinlirrr ,r

N{odule-2
lrrplain string sliccs, string rrethocls, fbrrnat opcrator u,ith cranrirlcs ru i:'v1hon. (06 llrrr i. ,

\\/rite a itrogr"am ir,'hich pronlllts tlrc user lbr a Cclsius lcnrllcr"atur'." r{)nvcrt ilic ttrrrpclilii,
to l]ahrcnheil anrl irrint oLrt the convertccl lenrpcralrrrc. ({)5 }trrr ,.

Irxplairr lrrr:ali lnri crrrrtirrLre stirtenrcnis u,ith cxl nrpic: in l'r,ilrrrn ({)5 }l.r::.

ott
''Strirrgs in [)ylhon are ir-nr-ntrlablc". [rrpllrur lhrs statenrcnt n,itli t,iurllrlc. \\'r Ltc pvllrr,r ',

cocic kr linclthe Jactoriai of any nlrn-ibcr cnter-cd hi,thc keyborrlci (08 )iurl, ,

Irxplain with a neat cliagram, a l'lle handling opcralions in Pvthorr. \\'ritc ii i)r,thorr pr.r)il1 r r

to rca(l thc: lrle. count and print the lincs that starl u,itlr lirr- uord "lr'rtiili" l)rornpt ihc Lrs,-'r' :

thc llle niilllc (oli ]1,: r;

iVl ocl u le-3.
I:rplain lisl opcrllitirrs antl urctholls in Pr,'thon. "l,ist arc nr,.rlitbi'-'' irr:1.1i1,,, tlris -L.ri,:r
rvitlr crairrplc ((}B ri:ir i

I lolr, arc dictionai ics and lr-rple s Lrsecl tos.cthcr'.) I)cnronslralc iltr irsc i,l' I rrpil rr:r j.," ' '

u rth dictiouaries lo travcrse thc l<cr.'s ancl vulucs o1'clictionar\,. (0lt llr;i.''

(0ll )'larlis)

a

b

4a

(-

b

b

5a.

Scorc Ciradc

-':0 9 A
>:0.8
>:0.7
>-0.6

C

I)
>:0.6 1:

Ioi'2

1l



OR
6, u. i)i:irn,-r LLrplc. l'xplain I)S[-] itattcrn.

It. \\:hv rl'r \i()n tiL'crl t'cqtilitr cxlll'cssiolts in I)1r1l1sp'7

forrrr Ncvv Revision :39172
Ar-rci Exlract thc nurnber fi'om each o1'the lines
Irctlioti. ('ornl'rtrle tlrc ar,'enige o1'the nuntir

t
lcguliLr c.rprcssiorr ancl the fincl a1l ( )

Wlite a progr:un to look fbr'

15C5664

(()6 \larks)
Iincs o 1- thc

7

b.v proviclrng the niethods _aclcl

I a" f:xplain iirit .method ancl

point olrject ancl print it
b. \\i hat erre c lasses

exarlp Ic

9a.

10 il

Lrpiutn ['olvrrrorp]ristn itr I'vthon in exanrp lcs
\\'hlt is ( )1rcra1or ovr:t'loacling'/

oLtt the avcrllgc (l() \llrlis)

!( L ri Lc llT

(0ti )lnrlis)
coclc to ilver]oacl an(l "*" ollcrators

ii.

b

nru I (0tl \larks)

OR
cl'l \\'ritc a sLr nrrlthod firr tlrc poinl cllrss. ('rcatc lr

lain attribri
(0tl \lrrrlis)

in Python'i Irxp tes and object diagram witl-r an
(0ll )larks)

h

Vlodule-5
Di:llnr Socitct. Shori,anil c,rplarn with neal diagranr, Socl<cI connr-ction. Writc a Pr,thon

l)r(rg[illri to rclricvc air irragc over ll-l'l'[' (10 ]{arhs)
Siulc llrr ircccl I'rir Urllrb in [)vthon L:xplain il,hv clata is tclricvccl rrr bloc],:s. (06 \tarks)

()l{.
i)i:llni: ..,\1i- L()nslnlct a sirtiple XiVIL rlocLu'ncnt ancl lcplrrsent it n'itlr a ciiaqranr. Writc
l't'thtlr coiic: tit loctlt lhroLtgh XN{I. nr:cles in t}re docr:ntcnl (()tl \larks)
l),:1in,.'.lSON Clott:;it'ttct a sirnl-rlc.lSON documr:rrt. Ilring oLrl the diil"err:nces beLrvccn X\4i.
rirrr-l .lS( tN \\rritc Pvtiroir cotlc to Parse jS(lN ilocrLrme n1 (0tl \lartrs)

b

2 o1'2


